CITROEN

e

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




CITROEN

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3 info@parsrot.com




—
sy L and

CITROEN
1986-1991

g3 CIT-11305

Ball Joint

Front Lower

CIT-16325

Suspension Control Arm and Ball Joint
Assembly

Front Lower

Assembly

Front Left Lower
Ball Joint D=@16mm

95658978

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

D=@16mm Front Right Lower
Ball Joint D=@16mm
96093233
95658979
PG-16126 PG-16125N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly

Front Right Lower
95658979

|
D=@14mm Front Right Lower A
With Ball Joint D=@14mm
95603309
96133608
|
CIT-16326 CIT-13303
Suspension Control Arm and Ball Joint Axial Joint
Assembly
Front —
FrontLeft  M14x1,5Rht/Lht-L=380mm
With Ball Joint D=J14mm
95069129
96133609
|
CiT-12302 CIT-2051
Tie Rod End Control Arm Bushing
Front Left Rear
M14x1,5Rht 96106474
381741
CIT-2050
Control Arm Bushing
Center
352350
1992-1998
|
CIT-2052 CIT-12301
Control Arm Bushing Tie Rod End
Rear Front Right
352351 M14x1,5Rht .
381742
|
CIT-11306 PG-16125
Ball Joint Suspension Control Arm and Ball Joint :
|

parsrot.com

info@parsrot.com



—
sy L and

AX

BERLINGO

CiT-14310 PG-16126N
Stabilizer Link Suspension Control Arm
Front Front Left Lower
L=322,5mm M12 Thread 95658978
508740
PG-11655 PG-16658
Ball Joint Suspension Control Arm

Front Lower

Front Left

‘ = 364068 352082
PG-16657 PG-14430
Suspension Control Arm Stabilizer Link
Front Right Lower Front
3521P3 Alm.Design L=334mm
508757
— PG-14430A PG-14430XD
Stabilizer Link Stabilizer Link
Front Front
MetalDesign L=334mm 508757
508757
PG-13433 PG-13433K
Axial Joint Steering Tie Rod Kit
__=,==_. Front Front
M14x1,5-L=254.7mm 3812F4
3812F4
PG-12661 PG-12662
- Tie Rod End Tie Rod End
\ Front Right Front Left
M14x1,5 M14x1,5
381788 381789
CIT-20136  CIT-20386
Control Arm Bushing Control Arm Bushing
Rear Center
352392 352391

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

CITROEN

1992-1998

2008-2018

parsrot.com

info@parsrot.com



—
sy L and

BERLINGO

MF

CIT-2054

Control Arm Bushing
Front Outer
96097927

CIT-2053

Control Arm Bushing
Front Left Lower Inner
96110483

CIT-20493

Control Arm Bushing

PG-14611

Stabilizer Link

Front Outer Front
96117499 PlasticType L=300mm
96152213
CIT-16427N CIT-16428N

Suspension Control Arm

Front Right Lower
Manuel&power

Suspension Control Arm

Front Left Lower
Manuel&power

95685513 95658882
CIT-14210 CIT-11204
Stabilizer Link Ball Joint

Front Front Lower
Metal L=300mm Bgﬁl%hﬁanDManueISteering
508746 96035445
PG-23101214 PG-12101
Steering Tie Rod Assembly Tie Rod End
Front Front
05493208 M14x1,5Rht
381750
CIT-13214 CIT-11205
Axial Joint Ball Joint
Front Front Lower
M14x1,5Rht-L=335.5mm Bg&l?é%%QYZPowerSteering
96048214 96025445
PG-11614 CIT-16425
Ball Joint Suspension Control Arm and Ball Joint
Front Assembly

Ch.No:7973->PowE)r=Sée1eé'imnﬂ1

96087507

Front Right Lower
) - .
Blg%q(%l%rgnerlngCh. 7972 Ball Joint

95658884

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

CITROEN

1996 after

parsrot.com

info@parsrot.com



—
sy L and

BERLINGO

MF

CITROEN

1996 after

CIT-16426

Suspension Control Arm and Ball Joint
Assembly

Front Left Lower
ManuelsteerlngCh.->7972D=B§I4 é%lm

CIT-16427

Suspension Control Arm and Ball Joint
Assembly

Front Right Lower
Ch.->7972 Ball Joint PowerD=@16mm

95668511

95658885
CiT-16428 CIT-16429
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower
Ch.->7972 Ball Joint PowerD=@16mm

Front Right Lower

3521R4
95658882
CiT-16430 PG-16635
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Front Right Lower
3520Q4 Bg\%ﬁrgrtg%ringCh.NoﬂQB» Ball Joint
352169
PG-16636 CIT-20840
Suspension Control Arm and Ball Joint Control Arm Bushing
Assembly
Front Lower
Front Left Lower 3521F3
PowersteerlngCh.No:7973->D=BSq g%lpnt
3520H5
1982-1994
|
CiT-2062 CIT-2061
Control Arm Bushing Control Arm Bushing
Front Rear
96070064 95637690
| |
CiT-13106 CIT-23101106
Axial Joint Steering Tie Rod Assembly
_;# Front Front Right -.-:.—-—~‘
M14x1,5-L=123mm 05496045
95495440
| |
CIT-23102106 CIT-12101
Steering Tie Rod Assembly Tie Rod End
P Front Left Front Right _——
05496044 M14x1,5Rht
95496045
* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.
parsrot.com 7 info@parsrot.com



Rot sy

= [and CITROEN
BX 1982-1994
CiT-12102 PG-11105
Tie Rod End Ball Joint
w Front Left Front
M14x1,5Rht 05494204
95496044
(0% 2005-2014
|
PG-13173 PG-12171
Axial Joint Tie Rod End
Front Front Right Outer
M12X1,25-L=224mm M12x1,25
- 455000H010 381764
|
PG-12172 TY-11305
Tie Rod End Ball Joint
Front Left Outer Front Lower
M12x1.25 4330859095
381763
PG-16178 PG-16179
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower

Front Left Lower

|
l . 480680H010 480690H010
|
PG-14240 CIT-20661
Stabilizer Link Control Arm Bushing
. ] Front Rear
L=338mm 355113
96288787
|
CIT-20662
Control Arm Bushing
Center
3521L3
C1
|
PG-14240 CIT-16648
Stabilizer Link Suspension Control Arm and Ball Joint
Assembly
. r] Front
L=335mm Front Right Lower
96288787 1614191680

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

2014 after

parsrot.com

info@parsrot.com



Rot sy

= Land CITROEN
C1 | 2014 after
|
CIT-16649 TY-11305
— Suspension Control Arm and Ball Joint Ball Joint
Assembly

Front Lower

4330859095

Front Left Lower

1614191480

PG-12172 PG-12171
Tie Rod End Tie Rod End

Front Left Outer Front Right Outer
M12x1,25 M12x1,25

381763 381764

PG-13173
A~ Axial Joint
Front
M12X1,25-L=224mm
455000H010

JM 2003-2009

PG-14240 CIT-13553

Stabilizer Link Axial Joint

Front Front - =i

L=335mm M14x1,5-L=235mm
96288787 38120

CIT-12551 CIT-11555
Tie Rod End Ball Joint

Front Right Front Lower
—— T M14x1,5Rht D=@18mm

381756 364062

CIT-12552 CIT-16557

Tie Rod End Suspension Control Arm and Ball Joint

Assembly
Front Left

M14x1,5Rht Front Right Lower

381755 3521N1

|
|
CIT-16558 CIT-16557N
Suspension Control Arm and Ball Joint Suspension Control Arm =
Assembly f
Front Right Lower | ‘
Front Left Lower ‘
3521N2 N
3520P1 b

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 9 info@parsrot.com



Rot sy

= Land CITROEN
C2 JM 2003-2009
. |

CIT-16558N  CIT-20440

o Suspension Control Arm Control Arm Bushing
! Front Left Lower Center !
3520V1 352398

CIT-20439
Control Arm Bushing
Rear
3523AA
1981-1993
|

Ball Joint Ball Joint

L3
Front Front Lower
D=@16,8mm D=@16mm
7567284 4388159

——
FT-13754 FT-23751754

Axial Joint Steering Tie Rod Assembly

Front Front @ﬂ
|

FT-11753 FT-11752 —

M16x1,5Rht-L=303mm 9790002680
9750001180

FT-12751
Tie Rod End

Front
M16x1,5Rht

9750079800

FC 2003-2009

CIT-16558N  CIT-16557N

Suspension Control Arm Suspension Control Arm
Front Left Lower Front Right Lower

3520V1 3521N2

CIT-16558 CIT-16557

Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower Front Right Lower

3520P1 3521N1

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 10 info@parsrot.com



Rot sy

mw Land CITROEN
C3 2003-2009
CIT-12552 CIT-11555
Tie Rod End Ball Joint
Front Left Front Lower
M14x1,5Rht D=@18mm
381755 364062
CIT-12551 CIT-13553
Tie Rod End Axial Joint
Front Right Front
M14x1,5Rht M14x1,5-L=235mm
381756 38120
PG-14240 CIT-20439
Stabilizer Link Control Arm Bushing
Front Rear
L=335mm 3523AA
96288787
CIT-20440
Control Arm Bushing
Center
352398
2009-2016
CIT-13563 CIT-12561
Axial Joint Tie Rod End
Front Front Right
M14x1,5-L=245mm M14x1,5
3812F6 381791
CIT-12562 CIT-11565
Tie Rod End Ball Joint
Front Left Front Lower
M14x1,5 364077
381792
CIT-16566 CIT-16567
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower
352189

Front Left Lower

3520W7

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land CITROEN
C3 | 2009-2016
|
CIT-16568 CIT-16578
— Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint —
Assembly Assembly
Front Right Lower Front Right Lower
352189 9803286480
CIT-16579 CIT-16568N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Lower
352189
9803286580
CIT-16569 CIT-16569N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Left Lower
Front Left Lower
3520W7
3520W7
CIT-16578N  CIT-16579N

Suspension Control Arm

Front Right Lower

Suspension Control Arm

Front Left Lower

9803286480 9803286580
CIT-14560 CIT-14560A
Stabilizer Link Stabilizer Link
Front Front
Alm.Desinng L=335mmMetalDesing
508774 96288787
CIT-20736 CIT-20735
Control Arm Bushing Control Arm Bushing
Rear Center Rear
853649 3523EA

C3 PICASSO 2009-2017

[PURSI—

PG-13273

Axial Joint

Front
M16x1,5-L=213mm

381200000000

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

PG-12271
Tie Rod End

Front Right
M16X1,5

381768

—d

parsrot.com

12

info@parsrot.com



—
sy L and

C3 PICASSO

CITROEN
2009-2017

PG-12272 PG-14278
Tie Rod End Stabilizer Link
Front Left Front Right
M16X1,5 L=330mm
381767 508768
PG-14279 CIT-16569N
Stabilizer Link Suspension Control Arm
Front Left Front Left Lower
L=330mm 3520W7
508769
CIT-16569 CIT-16568N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Lower
352189
3520W7
CIT-16568 CIT-11555
Suspension Control Arm and Ball Joint Ball Joint
Assembly
Front Lower
Front Right Lower D=@18mm
352189 364062
2009 after
|
PG-12662 PG-12661
Tie Rod End Tie Rod End .
FrontLeft  Front Right w J
M14x1,5 M14x1,5 -
381789 381788
|
PG-14656 PG-13663
Stabilizer Link Axial Joint
Front Front —-===—’
L=335mm M14x1,5-L=272mm
508764 3812F2
PG-11664 CIT-16538
Ball Joint Suspension Control Arm
Front Front Right Lower
364073 9805607380

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

B7

CITROEN

2009 after

CIT-16539

Suspension Control Arm

Front Left Lower

PG-16659

Suspension Control Arm

Front Right Lower

9805607480 3521R3
PG-16660 CIT-20136
Suspension Control Arm Control Arm Bushing
Front Left Rear
3520V2 352392
CIT-201070 CIT-20386
Control Arm Bushing Control Arm Bushing
Front Lower Outer Center
98056074 352391
LA
CIT-20386 CIT-20136
Control Arm Bushing Control Arm Bushing
Center Rear
352391 352392
PG-14656 PG-13653
Stabilizer Link Axial Joint
Front Front
L=335mm Ch.No:->10310 M14x1,5-L=322mm
508764 3812
PG-13654 PG-13653K
Axial Joint Steering Tie Rod Kit
Front Front
Ch.No:10311-> M14x1,5-L=340mm 3812
381200000
PG-13654K PG-16657
Steering Tie Rod Kit Suspension Control Arm
Front Front Right Lower
381200000 3521P3

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

14

info@parsrot.com



—
sy L and

LA

PG-16658

Suspension Control Arm

PG-11655

Ball Joint

Front Left Front Lower
352082 364068
|
CiT-12301 CIT-12302
Tie Rod End Tie Rod End
Front Right Front Left
. M14x1,5Rht M14x1,5Rht
381742 381741
C4 GRAND PICASSO UA
|
— PG-11655 PG-16658
Ef*. Ball Joint Suspension Control Arm

Front Lower

Front Left

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

364068 352082
PG-14430 PG-14430XD
Stabilizer Link Stabilizer Link
Front Front
Alm.Design L=334mm 508757
508757
PG-14430A CIT-13333
Stabilizer Link Axial Joint
Front Front
MetalDesign L=334mm M16x1,5-L=308.5mm
508757 3812000000000
CIT-12331 CIT-12332
Tie Rod End Tie Rod End
Front Right Front Left
M16x1,5 M16x1,5
381772 381771
CIT-20136  CIT-20386
Control Arm Bushing Control Arm Bushing
Rear Center
352392 352391

CITROEN
2004-2009

2007-2013

parsrot.com

15

info@parsrot.com



Rot sy

= Land CITROEN
C4 PICASSO Il 2013-2018

CIT-13343 PG-12674
Axial Joint Tie Rod End
Front Front Right

1610817680 ~ M14X15
1610817880

PG-12675 CIT-11365
Tie Rod End Ball Joint

Front Left Front Lower
M14X1,5 fitaluminiumcontrolarm

1610817780 9803434080

CIT-16378MG  CIT-16379MG

Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower Front Left Lower
9803434080 9803434080

PG-16688 PG-16689

Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Front Left
Aluminium Aluminium

9800596580 9800596680

PG-16688N PG-16689N

Suspension Control Arm Suspension Control Arm

Front Right Front Left
FORGEDALUMINIUM FORGEDALUMINIUM

9800596580 9800596680

PG-14656 CIT-12661
Stabilizer Link Tie Rod End
Front Front Right

L=335mm 9820340180
508764

CIT-12662
Tie Rod End
Front Left
9820340080

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 16 info@parsrot.com



—
sy L and

C5

DC

CITROEN
2001-2004

PG-14410

Stabilizer Link

CIT-16605

Suspension Control Arm

2004-2008

Control Arm Bushing

Front Right Lower Outer

Front Front Right Lower
L=320mm  3551k0
508760
CIT-16606 CIT-13603
Suspension Control Arm Axial Joint
Front Left Lower Front
3520P0 M16x1,5-L=177mm
3812C8
CIT-12601 CIT-12602
Tie Rod End Tie Rod End
Front Right Front Left
M16x1,5Rht M16x1,5Rht
381754 381753
PG-11106 CIT-20452
Ball Joint Control Arm Bushing
Front Lower Front Inner
364071 352384
CIT-20499
Control Arm Bushing
Front Right Lower Outer
3523AR
RC
CIT-20501 CIT-20502

Control Arm Bushing

Front Left Inner

3523AR 3523AQ
PG-13463 PG-12461
Axial Joint Tie Rod End
Front Front Right Outer
M14x1,5-L=103mm M14x1,5RhtD=&10mm
3817000 381757

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

RC
PG-12462 PG-11465
Tie Rod End Ball Joint
Front Left Outer Front Upper
M14x1,5RhtD=10mm 364074
381758
PG-16468 PG-16469

Suspension Control Arm
Front Right Lower
3521L2

Suspension Control Arm
Front Left Lower
3520Q1

PG-16488

Suspension Control Arm

Front Right Lower
(Withbracket)VariableSuspension

PG-16488ZB

Suspension Control Arm

Front Right Lower
(Withbracket)VariableSuspension

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

CITROEN

2004-2008

3521J7 3521J7
PG-16489 PG-14464
Suspension Control Arm Stabilizer Link
Front Left Lower Rear
(Withbracket)VariableSuspension L=141mm
3520N7 9651565180
PG-14466 PG-14467
Stabilizer Link Stabilizer Link
Front Right Front Left
L=200mm L=200mm
508753 508752
PG-16489ZB
Suspension Control Arm
Front Left Lower
(Withoutbracket)VariableSuspension
3520N7
RD 2008-2015
CIT-19636 CIT-19637
Lateral Arm Lateral Arm
Rear Right Lower Rear Left
Aluminium 5175CC
5175CE

parsrot.com

info@parsrot.com



—
sy L and

RD
CIT-19638 PG-14467
Lateral Arm Stabilizer Link
Rear Right Upper Front Left
s175cp  -=200mm
508752
PG-14466 PG-14464
Stabilizer Link Stabilizer Link
Front Right Rear
L=200mm L=141mm
508753 9651565180
PG-11465 CIT-16618
Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front Upper
Front Right
364074
352177
CIT-16616 CIT-16617

Suspension Control Arm

Front Right Lower

Suspension Control Arm

Front Left Lower

Ch:11984-> Ch:11984->
352185 3520W2
CIT-16619 CIT-19639
Suspension Control Arm Lateral Arm

Front Left Rear Left Upper
3520X6 5175CN
PG-19477 CIT-13613

Lateral Arm Axial Joint
Rear Front Front

517847 M14X1,5-L=129mm

3812F3
CIT-12611 CIT-12612
Tie Rod End Tie Rod End
Front Right Front Left
M14x1,5 M14x1,5
381781 381780

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

CITROEN

2008-2015

parsrot.com

19

info@parsrot.com



Rot sy

== Land CITROEN
C5 RD 2008-2015
|
PG-11460K PG-19478
N Suspension Ball Joint Kit Lateral Arm N
Front Lower Rear Upper Rear !
364072 5175CF
CIT-20502 CIT-20975

Control Arm Bushing

Front Left Inner

Control Arm Bushing

Front Outer

Control Arm Bushing

Front Left Inner

3523AQ 352154
CIT-20767 CIT-20876
Control Arm Bushing Control Arm Bushing
Front Right Lower Inner Rear
352177 5175CF
CIT-20502 CIT-20501

Control Arm Bushing
Front Right Lower Outer

3523AQ 3523AR
PG-11460K PG-11460
Suspension Ball Joint Kit Ball Joint

Front Lower

364072

Front Lower

364072

PG-16468

Suspension Control Arm

Front Right Lower

PG-16488

Suspension Control Arm

Front Right Lower
(Withbracket)VariableSuspension

|
A 352112
3521J7
|
PG-16469 PG-14464
Suspension Control Arm Stabilizer Link
Front Left Lower Rear
3520Q1 L=141mm
9651565180

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land CITROEN
Cé6 2005-2012
PG-16488ZB PG-14466
=== Suspension Control Arm Stabilizer Link
Front Right Lower Front Right
(Withbracket)VariableSuspension L=200mm
3521J7 508753
PG-14467 PG-16489ZB
Stabilizer Link Suspension Control Arm
Front Left Front Left Lower
L=200mm (Withoutbracket)VariableSuspension
508752 3520N7
PG-12462 PG-12461
Tie Rod End Tie Rod End

Front Left Outer
M14x1,5RhtD=@10mm

Front Right Outer
M14x1,5RhtD=10mm

381758 381757
|
PG-13463
Axial Joint
Front
M14x1,5-L=103mm
3817000
C8 2002-2014
| |
FT-13793 FT-16798
Axial Joint Suspension Control Arm and Ball Joint
Assembly
| e ——— Front
M14x1,5-L=308mm Front Right Lower
77362280  3521P6
|
FT-16796 FT-12791
Suspension Control Arm and Ball Joint Tie Rod End
Assembly
~ Front Outer
; FrontLeft  M14x1,5Rht-D=@15,45mm
93501487 77362279
|
FT-16795 FT-16799
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
N Front Right Lower Front Left Lower

93501488

352085

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 21 info@parsrot.com



—
sy L and

C8

CITROEN
2002-2014
PG-14810 CIT-20507
Stabilizer Link Control Arm Bushing
Front Right
L=262,5mm 3521H1
508751
CIT-20508 CIT-2058
Control Arm Bushing Control Arm Bushing
Left Front Lower Inner
3521H1 352172
CIT-16568 CIT-16567
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower

Front Left Lower

352189 3520W7
CIT-16566 CIT-11565
Suspension Control Arm and Ball Joint Ball Joint
Assembly
Front Lower
Front Right Lower
364077
352189
CIT-16568N CIT-16569

Suspension Control Arm

Front Right Lower

Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

352189
3520W7
CIT-16569N CIT-14560A
Suspension Control Arm Stabilizer Link
Front Left Lower Front
3520W7 L=335mmMetalDesing
96288787
CIT-14560 CIT-12562
Stabilizer Link Tie Rod End
Front Front Left
Alm.Desinng M14x1,5
508774 381792

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

22

info@parsrot.com



—
sy L and

DS3

CITROEN
2009-2016

CIT-12561
Tie Rod End

Front Right
M14x1,5

381791

CIT-13563
Axial Joint

Front
M14x1,5-L=245mm

3812F6

CIT-20735

Control Arm Bushing
Rear
3523EA

CIT-20736

Control Arm Bushing
Rear Center
853649

PG-11664
Ball Joint
Front

364073

CIT-13653

Axial Joint
Front

3812F7

CIT-12621 CIT-16658
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front
M14X1.5 Front Right Lower
381797 9806738280
CIT-16659 PG-16668
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Lower
3521Vv4
9806738380
PG-16669 PG-14656SA
Suspension Control Arm Stabilizer Link
Front Left Lower Front
3520Y3 L=335mm
9809045780
JUMPER 1994-2002
| |
FT-13764 FT-13765
Axial Joint Axial Joint
] —’ Front Front " =_:‘=
ManualSteering M16x1,5Rht-L=318mm PowerSteering M16x1,5Rht-L=318mm
9945385 9945836

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

Suspension Control Arm

Front Left Lower

Suspension Control Arm

Front Right Lower

= Land CITROEN
JUMPER | 1994-2002
|
FT-23761764 FT-23761765
Steering Tie Rod Assembly Steering Tie Rod Assembly
: Front Front H
0_# ManuaISteer?ng Po?/verSteering Q=__==$
4018A3 4018A3
FT-12761 FT-11763 o
Tie Rod End Ball Joint b
Front Front Lower
M16x1,5Rht Only:1,8Q
4018A3 542410095
FT-11762 FT-16775
Ball Joint Suspension Control Arm
Front Lower Front Right Lower
Only:1.4Q Only:1,4Q
364032 352165
|
FT-16776 FT-16785

Only:1,4Q Only:1,8Q
352095 352166
FT-16786 FT-14780
Suspension Control Arm Stabilizer Link
Front Left Lower Front
Only:1,8Q L=134mm
352096 508737
CIT-20352 CIT-2064

Control Arm Bushing
Inner

1308601080

Control Arm Bushing
Front Right Lower Outer
352394

CIT-2063

Control Arm Bushing
Front Inner

1300507080

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

24

info@parsrot.com



—
sy L and

JUMPER

CIT-2063

Control Arm Bushing

CIT-2064

Control Arm Bushing

Front Inner Front Right Lower Outer
- 1300507080 352394
|
CIT-20352 CIT-20425

Control Arm Bushing

Control Arm Bushing

Inner Front Right Lower
1308601080 1331948080
PG-12771 FT-11772
Tie Rod End Ball Joint
Front Front Lower
M16x1,5Rht Only:1.4Q
77362278 364055
FT-11773 FT-16777
Ball Joint Suspension Control Arm
Front Lower Front Right Lower
Only:1,8Q Only:1,4Q
364054 3521J3
FT-16778 FT-16787

Suspension Control Arm

Front Left Lower

Suspension Control Arm

Front Right Lower

Only:1,4Q Only:1,8Q
3520N3 3521J4
FT-13764 FT-16788
Axial Joint Suspension Control Arm
Front Front Left Lower

CITROEN

2002-2006

ManualSteering M16x1,5Rht-L=318mm Only:1,8Q
9945385 3520N4
JUMPER 2006 after
| |
FT-13813 FT-12811

Axial Joint Tie Rod End -

(mm— Front  Front Right n ,
M16x1,5-L=260mm M16x1,5 X

1359226080 77364009

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 25 info@parsrot.com



Rot sy

= Land CITROEN
JUMPER 2006 after
FT-12812 FT-11814
- Tie Rod End Ball Joint
: Front Left Front Lower
M16x1.5 50705620
77364253
|
FT-16815 FT-16816
Suspension Control Arm Suspension Control Arm
Front Right Lower Front Left
Only:1.7H-2.0Q Only:1.7H-2.0Q
3521P2 352081
FT-16817 FT-16818
Suspension Control Arm Suspension Control Arm
Front Right Lower Front Left ‘
Only:1.1Q-1.5Q-1.7Q Only:1.1Q-1.5Q-1.7Q [
3521P1 3520S0
FT-14810 FT-14819
Stabilizer Link Stabilizer Link
Front Rear
L=112mm L=100mm
1357572080 5170F5
CIT-20674 CIT-20673
Control Arm Bushing Control Arm Bushing
Front Right Lower Front Inner
3521P2 3521P2
EVANSION
CIT-2059 CIT-2060
Control Arm Bushing Control Arm Bushing
Left Right
1305551080 1305552080
CIT-16228 FT-16745
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Front Right Lower
REINFORCEDTIERREGNINNAER?8 1317300080
3521P4

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

JUMPY

EVANSION

CITROEN

1995-2003

FT-23741743

Steering Tie Rod Assembly

FT-12741

Tie Rod End

Front Front Outer
B 9566950880 M14x1,5Rht-D=@14,4mm
9404059580
|
FT-16746 FT-14750
Suspension Control Arm and Ball Joint Stabilizer Link
Assembl :
Y Front -_— @
Front Left L=122mm
1317389080 508735
|
FT-13743 CIT-16229
Axial Joint Suspension Control Arm and Ball Joint
Assembly
- Front Inner
M14x1,5-L=309mm  Front Left
9566050880  TREVISIONINZ014 270 - ONOEPAR
3520P4
|
CIT-2058
Control Arm Bushing
Front Lower Inner
352172
JUMPY | 2004-2006
|
FT-14750 FT-16746

Stabilizer Link

Suspension Control Arm and Ball Joint
Assembly

Front
L=122mm Front Left
508735 1317389080
FT-13463 FT-12741
Axial Joint Tie Rod End
Front Inner Front Outer
M14x1,5Rht-L=309.3mm M14x1,5Rht-D=@14,4mm
9947713 9404059580
FT-16745 CIT-2058
Suspension Control Arm and Ball Joint Control Arm Bushing
Assembly

Front Right Lower
1317390080

Front Lower Inner

3521T2

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

27

info@parsrot.com



Rot sy

= Land CITROEN
JUMPY 2004-2006
CiT-2060 CIT-2059
—_— Control Arm Bushing Control Arm Bushing
! Right  Left
1305552080 1305551080
2007-2016
FT-13833 FT-12831
Axial Joint Tie Rod End
Front Front
M14x1,5-L=304.7mm M14x1,5
3812F0 9403817738
FT-16838 FT-16838A
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Front Right
50711395  (Forging)
50711395
FT-16839 FT-16839A
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Front Left
50711394  (Forging)
50711394
FT-14836 FT-16838XT

Stabilizer Link

Suspension Control Arm and Ball Joint
Assembly

Front
L=263mm Front Right
508756 1497407080
FT-16839XT CIT-20508
Suspension Control Arm and Ball Joint Control Arm Bushing
Assembly
Left
Front Left
3521H1
1497408080
CIT-20507 CIT-20322
Y Control Arm Bushing Control Arm Bushing o~
! Right Front Right Inner " !
3521H1 50711395

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 28 info@parsrot.com



Rot sy

Front Left Lower
Ball Joint D=@16mm

Front Right Lower
Ball Joint D=@16mm

= [and CITROEN
JUMPY ]| 2016 after
CIT-11664 CIT-12662
B Ball Joint Tie Rod End
Front Lower Front Left
9818657580 9820340080
|
CIT-12661
= Tie Rod End
Front Right
9820340180
1996-2003
|
CIT-12302 CIT-12301
Tie Rod End Tie Rod End
Front Left Front Right
. M14x1,5Rht M14x1,5Rht
381741 381742
|
CIT-14310 PG-16125N
Stabilizer Link Suspension Control Arm
’ﬁ.“ Front Front Right Lower
L=322,5mm M12 Thread 95658979
508740
|
PG-16126 PG-16125
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
‘ Assembly Assembly
|

ull]

95658978 95658979
CiT-11306 PG-16126N
Ball Joint Suspension Control Arm
Front Lower Front Left Lower
D=g16mm 95658978
96093233
CiT-14309 PG-16128N
Stabilizer Link Suspension Control Arm
Front Front Left
L=322,5mm M10 Thread Only:VTS
96145457 382080

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

29

info@parsrot.com



—
sy L and

SAXO

CITROEN
1996-2003

CIT-23304

Steering Tie Rod Assembly

PG-16127

Suspension Control Arm and Ball Joint
Assembly

-“— Front _
M14x1,5Lht-L=214mm  Front Right Lower
Only:VTS
381747
352093
|
PG-16128 PG-16127N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right
Front Left Only:VTS
Only:VTS
382081
352092
|
CiT-14312 CIT-20128
Stabilizer Link Control Arm Bushing
~——— Front Front Outer
Only:VTS L=300mm 06148480
96147514
|
CiT-20127 CIT-2050

Control Arm Bushing

Control Arm Bushing

Center Center
95603308 352350
CIT-2052
Control Arm Bushing
Rear
352351
C15 1982-1997
CIT-20125 CIT-20126
Control Arm Bushing Control Arm Bushing
Rear Center
352320 352349
CiT-20129 CIT-20133
Control Arm Bushing Control Arm Bushing
Center Rear
352323 91515653

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land CITROEN
VISA C15 1982-1997
|
PG-13202 PG-23101202
Axial Joint Steering Tie Rod Assembly
—l Front Inner Front ‘
M14x1,5-L=314mm 95493610
96136394
] |
PG-16206 PG-16207
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
d Front Right Lower Front Left b
91516337 91516336
] |
PG-16226 PG-16227
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left
Only:GTI Only:GTI
91519408 91519409
| |
PG-12101
Tie Rod End
Front
M14x1,5Rht
381750
C15 1984-1997
|
PG-12101 PG-13501
Tie Rod End Axial Joint
Front  Front Inner e
M14x1,5Rht 95560858
381750
|
PG-23101501 PG-14230
Steering Tie Rod Assembly Stabilizer Link
Front Outer Front ’—.‘
’ 95493210 508732
XANTIA BREAK 1993-2003
| |
CIT-23301202 CIT-23302202
Steering Tie Rod Assembly Steering Tie Rod Assembly
‘ Front Right Front Left ‘
9471007565 9471000565

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land CITROEN
XANTIA BREAK 1993-2003
. |

CIT-16525 CIT-16526

Suspension Control Arm Suspension Control Arm
Front Right Lower Front Left
352181 3520C1

|
CIT-13203 PG-13202
Axial Joint Axial Joint
————= Front Front Inner

M14x1,5-L=312mm M14x1,5-L=314mm
381295 96136394

CiIT-14309 CIiT-14310
Stabilizer Link Stabilizer Link

Front Front
L=322,5mm M10 Thread L=322,5mm M12 Thread

96145457 508740

CIT-12301 CIT-12302
Tie Rod End Tie Rod End

Front Right Front Left
M14x1,5Rht M14x1,5Rht

381742 381741

PG-14410 CIT-2057

Stabilizer Link Control Arm Bushing

Front Left
L=320mm 352381
508760

CIT-2056 CIT-2055

Control Arm Bushing Control Arm Bushing
Right Front Inner
352382 96083570

BREAK 1994-2000

PG-11106 CIT-12302

Ball Joint Tie Rod End

Front Lower Front Left
364071 M14x1,5Rht
381741

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 32 info@parsrot.com



Rot sy

mw Land CITROEN
BREAK 1994-2000
|
CiT-12301 CIT-13504
Tie Rod End Axial Joint
Front Right Front -_—
M14x1,5Rht M14x1,5Rht-L=295mm
381742 96032460
|
CiT-14311 CIT-23301504
Stabilizer Link Steering Tie Rod Assembly —_
Front Front Right
L=346mm 381280
96080894
|
CIT-23302504
Steering Tie Rod Assembly
Front Left
381281
1997-2005
CiT-13214 PG-12101
Axial Joint Tie Rod End
Front Front
M14x1,5Rht-L=335.5mm M14x1,5Rht
96048214 381750
CIT-11204 PG-23101214
Ball Joint Steering Tie Rod Assembly
Front Lower Front
Ch'NO:'>7972Manuﬁl§ée1€éimnﬂ1 05493208
96035445
PG-16636 PG-16635
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower
P teeringCh.No:7973->_Ball Joint
owersteering o D=S“gr?1mm

Front Right Lower
’ . N .
Bg\&%rg}ﬁﬁnngCh.No]Q?S Ball Joint

3520H5 352169
CiT-16428 CIT-16427
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower
Ch.->7972 Ball Joint PowerD=@16mm

95658882

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

Front Right Lower
Ch.->7972 Ball Joint PowerD=@16mm

95668511

parsrot.com

info@parsrot.com



Rot sy

= Land CITROEN
XSARA 1997-2005
CIT-16426 CIT-16425
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower
ManuelsteerlngCh.->7972D=B§I4 é%lm

Front Right Lower
) - .
ME%‘{%I%%e”nQCh' 7972 Ball Joint

95658885 95658884
PG-11614 CIT-11205
Ball Joint Ball Joint

Front Front Lower

Ch.No:7973->PowBr=Sée1eé'imnﬁ1

Bgal%-;anZPowerSteering

Suspension Control Arm

Front Left Lower
Manuel&power

95658882

96087507 96025445
PG-14611 CIT-14210
Stabilizer Link Stabilizer Link
Front Front
PlasticType L=300mm Metal L=300mm
96152213 508746
CIT-16428N CIT-16427N

Suspension Control Arm

Front Right Lower
Manuel&power

95685513

1 &5

CIT-2054

Control Arm Bushing
Front Outer

96097927

XSARA PICASSO

CIT-2053

Control Arm Bushing
Front Left Lower Inner

96110483

1999-2012

CIT-2053 CIT-20493
p ~ Control Arm Bushing Control Arm Bushing
_ @ Front Left Lower Inner Front Outer
W Y 96110483 96117499
CIiT-16430 CIT-16429
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Front Right Lower
3520Q4 3521R4

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

== Land CITROEN
________________________________________________________________________________________________________________________________________|
XSARA PICASSO 1999-2012
|
PG-12101 CIT-13423
Tie Rod End Axial Joint
Front Front -_——lfe
M14x1,5Rht M14x1,5
381750 3812C6
|
CIT-20840
Control Arm Bushing
Front Lower
3521F3
1991-1997
PG-12101 PG-23101214
Tie Rod End Steering Tie Rod Assembly
Front Front
M14x1,5Rht 05493208
381750
CIT-11204 CIT-13214
Ball Joint Axial Joint
Front Lower Front
Ch.No:->7972Manu8I=Sée1<-,gm9n M14x1,5Rht-L=335.5mm
96035445 96048214
|
CIT-16428 PG-16635
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Lower Front Right Lower
Ch.->7972 Ball Joint PowerD=&16mm Bo%ergteeringCh.No:7973-> Ball Joint
=18mm
95658882 352169
|
PG-16636 CIT-11205
Suspension Control Arm and Ball Joint Ball Joint
Assembly

Front Left Lower
P teeringCh.No:7973->_Ball Joint
owersteering o D=S“gr?1mm

Front Lower
Bn.&l%%%‘)?ZPowerSteering

96025445
3520H5
PG-11614 CIT-16425
Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front

Ch.No:7973->PowBr=Sée1eé'imn9n

96087507

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

Front Right Lower
Mg&q%lrsg%eringCh.»?Q?Z Ball Joint

95658884

parsrot.com

35

info@parsrot.com



Rot sy

CITROEN

1991-1997

= [and
ZX
CIT-16426
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower
ManuelsteerlngCh.->7972D=B§I4 é%lm

95658885

CIT-16427

Suspension Control Arm and Ball Joint
Assembly

Front Right Lower
Ch.->7972 Ball Joint PowerD=@16mm

95668511

CIT-16427N

Suspension Control Arm

Front Right Lower
Manuel&power

95685513

CIT-16428N

Suspension Control Arm

Front Left Lower
Manuel&power

95658882

PG-14611

Stabilizer Link

[ 1=

CIT-2053

Control Arm Bushing

Front Front Left Lower Inner
PlasticType L=300mm 96110483
96152213
CIT-2054

Control Arm Bushing
Front Outer

96097927

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com






